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A B C D E F G H | ]
1 A H #EH AorB FHE# AN (. B B, &) fFEH I B0 F0REE
2 6 98 A ELhWhYH 2 0 yes yes no
3 6 98 B XA o FEX an yes no no
4 610k A FLTA4X = F yes no no
5 610Xk B AT hY FAX E yes yes no
6 6 117Kk A 79| R = @ X By no no yes
7 6117k B FExoFYYy—X =3 == yes no yes
8 612K A X X il no no no
9 612x B BB ~3nynN—=7 4 F yes no no
10 6 13% A HIRAZ7 A4 X X Z Dt yes no yes
11 6 13% B F¥ U EE = h yes yes no
12 616 8 A P e s e [ &+ P yes no no
13 616 8 B 2R —=FF Pl == no no yes
14 6 17k A HANITREETZIE X T yes no no
15 6 17k B SVIRTTA X F yes yes  no



JO0 o =22 1— RiRAH

1 Tlibrary(arules)

2

3 shokudo_data = read.csv('shokudo.csv", header=T)
4

5

shokudo_transaction = as(shokudo_data, "transactions')
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11 shokudo_rule = apriori(shokudo_transaction,

12 parameter=
13 Tist(maxlen=3,supp=0.02,conf=0.35,ext=T))
20 rule02= subset(shokudo_rule,
21 subset = Ths %1n%
22 c("EH=RA", "EHB=X", "EBH=XK", "EH=K", "EH=%"))
23 1nspect(sort(rule02, by="11ft")[1:15, 1)
» apriori() &N CEERIAR Al %= 3 B
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thok —HEH Dz

Ths rhs support confidence coverage 1ift
{ER=K, FlL\¥H=yes} = {HEZL=FFF1)Y—RX} 0.03030303 0.6666667 0.04545455 14.666667 2
{B=[1,12.7), EB=X} => {HEBZ=FF_F1)Y—RX} 0.03030303 0.4000000 0.07575758 8.800000 2
{iEB=X, IRN.4.K.5.8.=58} = {#HEL=FFF1)Y—X} 0.03030303 0.4000000 0.07575758 8.800000 2
{EEB=K, FUL§#E=yes} => {FFEP=2D1th} 0.03030303 1.0000000 0.03030303 8.250000 2
{#£H=/, AorB=B} = {HEZL=FFF1)V—X} 0.03030303 0.3333333 0.09090909 7.333333 2
{EB=8, FUL#HE=yes} => {FFEP=CD1th} 0.03030303 0.6666667 0.04545455 5.500000 2
{lEB=XK, FFEd=F} = {{R.4.K.5.8.=5} 0.03030303 1.0000000 0.03030303 5.500000 2
{lER=%&, FUL\¥HE=yes} => {fFP=FnD1h} 0.04545455 0.6000000 0.07575758 4.950000 3
{EB=XK, HELA=FFFI)Y—R} = {FL\H#¥E=yes} 0.03030303 1.0000000 0.03030303 4.125000 2
{lEB=%, MFh=tnith} => {FUL\##E=yes} 0.04545455 1.0000000 0.04545455 4.125000 3
{EH=%, AorB=A} = {FFP=20Dfth} 0.04545455 0.5000000 0.09090909 4.125000 3
{lEB=K, MFEP=tDith} => {FUL\##E=yes} 0.03030303 1.0000000 0.03030303 4.125000 2
{lEB=8, MFh=tnih} => {FUL\#l#E=yes} 0.03030303 1.0000000 0.03030303 4.125000 2
{liEB=%, P=no} => {FUL¥E=yes} 0.03030303 1.0000000 0.03030303 4.125000 2
{lEB=%, ZIT¥=no} => {FIFEdP=2D1th} 0.04545455 0.4285714 0.10606061 3.535714 3

b KEATHD., FEOREED & = (EFF>FUY—Z(lift 14.7)

count



Ths rhs support confidence coverage 1ift count

[1] {FFEP=F0fth, HIT¥=yes} => {FELH=V =3 LFF>} 0.03030303 1.0000000 0.03030303 33.00 2
[2] {#&lT¥=yes, FL \#E=yes} = {HEH=VY=Z3LFF>} 0.03030303 1.0000000 0.03030303 33.00 2
[31 {FFh=rh, {57¥=yes} => {HEL=hKFE] 0.03030303 0.4000000 0.07575758 13.20 2
[4] {FFh=rh, {5T¥=yes} = {HEL=FFmE} 0.04545455 0.6000000 0.07575758 13.20 3
[5] {FFh=%20Dith, iH(F¥=no} = {MEZ=HAN\FF4 R} 0.03030303 0.3333333 0.09090909 11.00 2
[6] {FiFE=F1, #&H(F¥=no} = {HEL=FKAOEZEHEZ} 0.03030303 0.3333333 0.09090909 11.00 2
[7] {FFR=20D1th, H(F¥=no} = {#EH=23F4(4 X} 0.03030303 0.3333333 0.09090909 11.00 2
[8] {FiEHp=%0D1th, HIF¥=no} => {HEL=EFEKFLFH} 0.03030303 0.3333333 0.09090909 11.00 2
[9]1 {FF=F1, $&E(F¥=no} = {HELH=FFF]} 0.03030303 0.3333333 0.09090909 11.00 2
[10] {#ER=H/FF4 X, HIT¥=no} = {fFEP=FDIh} 0.03030303 1.0000000 0.03030303 8.25 2
[11] {#¥EL&=22354 X, HIT¥=no} => {FFER=Z D1} 0.03030303 1.0000000 0.03030303 8.25 2
[12] {MEZ=EFBEXLFH, &HIT¥Y=no} => {fFEP=FDIh} 0.03030303 1.0000000 0.03030303 8.25 2
[13] {HEZE=VYZ3LFF2, HT¥Y=yes} = {FFH=FD1h} 0.03030303 1.0000000 0.03030303 8.25 2
[14] {ZIT¥=yes, Fl\§iHE=yes} => {MiFEF=Z Dt} 0.03030303 1.0000000 0.03030303 8.25 2
[15] {#MEZ=BYZINnN—7, HF¥Y=no} = {fA.4.K.B.&.=4} 0.03030303 1.0000000 0.03030303 5.50 2
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